
WEST BENGAl; STATE lJ"NIVERSITY
B.A. Honours PART-III Examination, 2016

SANSKRIT-HONOURS

Paper-SANA- VIII

Time Allotted: 4 HOUTS Full Marks: 100

The figures in the margin indicate full marks.
Candidates should answer in their own words and adhere to the word limit as practicable.

UNIT-I
[Marks -70]

1. ~i;ijj(1?\RI)f1t~: -

(a) f<t ~ ~ 7 ~U!m: ~ m~6Xui ~ ! 3+7
(b) 31fuqw~q qRtiff<l ~(j'jfH'{ dtG: m~6Xui ~q~4111:I 4+6

2. ~ rpll<i mTTm ~ll'1 :- 5x2 = 10
(a) ~F%(h1::j ~
(b) ~ 1T1ClCli.l11q
(c) m~~R
(d) ~'1llmS4~
(e) ~~uTI:~

3. lJ~r:e4;f7~ ~W! :- 6xl =6

(a) cpq ~\llTI\dl :ff: ¢4!lguliirc.1Txf.1~~ I
(b) '~~ ~ 3PJUT ~ ~ ~I
(c) ~ ~7f ~ ,¢ <flT' ~ f.1{f~"qI
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4. ~G\1Ai <1~ ffllf: czncJRvltiUJdl -eTcm~-;furr ;_ 5x2 = 10
(a) ~1?H~d~
(b) ~ql~H~
(c) 4>4~Cj:q..ft<1:

(d)~:
(e)~

5. ~a:R 'tfCiAi if71T: ~ i(fq)I,<OI~ftm:l~T- 2x2=4
~f.1~:-

(a) ~ ~:I
(b) ~ rrcftir~: I
(c) 'J7ZTTr! ~ CWR: I
(d) 3ffi ~,
(e) EFrTcf fctw -rrtm~ I

6. ~ ?J?1&ir ~fTRT dll&1 ll~ :- 5x2 = 10
(a) 4>~4>xtTr ¥IT ~
(b) \3qfi'ld ~: i(fISiIOX/'~~~
(c) ~cWFf
(d) 3A4>~OX/q~

(e) ~ ilI'!4P!Qld I

7. ~G"nFfi iFlT.. ~(ftFT~~: tqte)l1l111ffllT :_ 5x2 = 10
(a) ~~sftt TJl1q)Cilffi "Wffi1: I
(b) ~ WlTffi ~~W11
(c) "d~ ~ f($~? 3fe10Jl Cf>TUT:I
(d) ~ ~ct ~q),OI4'~ ~fg: I

3l2FIT

iFlT.. ilcm cl (g 4) IIr :-
5x2 = 10

(a)~:
(b) ~:
(c) ~:
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(d) f.l~Hfl=jT~:
(e) ~:

8. 3m1~ftIdAt lPlT:~: ~ meR ~ :-
(a) ~u(.r~

(b)~:
(c)q~
(d) mxl511
(e) 3lf%~l1

5x2 = 10

UNIT-II
[Marks -30)

9. Answer any two questions from the following: lOx2 = 20

(a) What makes the differerice between centum and satarn groups
of I.E. language? Write a note on anyone of the branches
referred to here.

(b) Elucidate with illustrations the relation between Sanskrit and
Prakrta languages.

(c) What is meant by phonetic law? Write an informative note on
Collitz's Law on phonetic changes.

(d) Write a note on the affinities between vedic language and
Avestan language.

10. Write short notes on any two of the following: 5x2 = 10

(a) Metathesis
(b) Ablaut
(c) Haplology
(d) Dissimilation
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